An-16 Answersto Sarpath Chart Problems

Noteon I nterpolation...
...asoknownas"Robert's Tabular Interpolation Method." SeeProblem 2-5, for example.

(2) writedownwhat you know

000=>20

045=>6.5

(iethedeviationat 000 Cis20.0° E, at 045 Citis6.5 E --- or any thing, ie at azimuth 000, the height of
the star was50° and at 045 it was 6.5°, or at 00h 00m the temp was 20° and at 00h 45m the temp was
6.5° -- thisisgeneral interpol ation of any data)

(2) writedownwhat youwant
030=>7? (what isthevalueat 030, giventhat i know it at 000 and 045)

(3) decidehow many stepsit takesto makeatablewithyour valueinit
000=>20

015 =>

030 =>

045=>6.5

want the answer at 30, so we can dothisin 3 steps

(4) figuretheincrement per step: (20-6.5)/ 3= 13.5/3=4.5

(5) nowfill inthetabl eeither subtracting fromthetop or addingfromthebottom, ie
045=>6.5

030 => 6.5+ 4.5=11, then

015=>11+4.5=15.5, then we check to seethat thetop isright
000=>15.5+4.5=20.0 iewegot it right.

000 =>20.0
015=>155
030=>11.0
045=>6.5

(6) tousethismethodfor finer steps, say youwant 005, thendoitfirst for 15, asabove, theninterpolate
the sameway between 015 and 000, ie
000 =>20.0

005 =>

010 =>

015=>155

steps= 3, increment = (20-15.5)/3=15
0

000 =>20.0

005=>20.0-15=185
010=>185-15=17.0

015=> 17.0-15=155

sothevauefor 005is18.5.



